



THE FASCINATING GAMMA FUNCTION IN ACTIONS

Mulatu Lemma, Issac Wriqth, Agegnehu Atena & Jonathan Lambright

College of Science and Technology, Department of Mathematics, Savannah State University, USA.

Corresponding author: *Mulatu Lemma
Tel.:+1 Email: lemmam@savannahstate.edu

ABSTRACT

The gamma function has several properties that define it. In this paper, I will present proofs for those properties and give example using real numbers. The properties I will prove are as followed:

$$\Gamma(n) = (n - 1) \Gamma(n - 1)$$

$$\Gamma(n + 1) = n * \Gamma(n)$$

$$\Gamma(1) = 1$$

$$\Gamma(n) = (n - 1)!$$

$$\Gamma\left(\frac{1}{2}\right) = \sqrt{\pi}$$

$$\Gamma(n + 1) = n!$$

Main Results

The Gamma Function is defined as

$$\Gamma(n) = \int_0^{\infty} x^{n-1} e^{-x} dx$$

The first property of the Gamma Function is $\Gamma(n) = (n - 1) \Gamma(n - 1)$

Proof: $\Gamma(n) = (n - 1) \Gamma(n - 1)$

To integrate this function we use integration by parts with respect to x

$$\Gamma(n) = \int_0^{\infty} x^{n-1} e^{-x} dx$$

Integration by Parts: $uv - \int v du$

$$u = x^{n-1} \quad du = (n-1)x^{n-2}$$

$$dv = e^{-x} dx \quad v = -e^{-x}$$

Once it has been integrated by parts it can be written as

$$(-x^{n-1}e^{-x})|_0^{\infty} - \int_0^{\infty} (n - 1)x^{n-2} - e^{-x} dx$$

This function can be reduced to

$$(n-1)\int_0^{\infty} x^{n-2} e^{-x} dx$$

From this function we now know that

$$\Gamma(n) = (n - 1) \Gamma(n - 1)$$

The second property of the Gamma Function is $\Gamma(n + 1) = n * \Gamma(n)$

Proof: $\Gamma(n + 1) = n * \Gamma(n)$

$$\Gamma(n + 1) = \int_0^{\infty} x^{(n+1)-1} e^{-x} dx$$

This can be reduced to

$$\Gamma(n + 1) = \int_0^{\infty} x^n e^{-x} dx$$

To integrate this function we need to integrate by parts respect to x again.

$$u = x^n \quad du = nx^{n-1}$$

$$dv = e^{-x} dx \quad v = -e^{-x}$$

Combing $uv - \int v du$

$$(-x^n e^{-x})|_0^{\infty} - \int_0^{\infty} (nx^{n-1} - e^{-x} dx$$

This can be reduced to

$$n \int_0^{\infty} x^{n-1} e^{-x} dx$$

Thus, we have proven that

$$\Gamma(n + 1) = n * \Gamma(n)$$

The third property of the Gamma Function is $\Gamma(1) = 1$

Proof: $\Gamma(1) = 1$

One of the properties of the gamma function is $\Gamma(1) = 1$. The next step is to prove this

$$\Gamma(1) = \int_0^{\infty} x^{1-1} e^{-x} dx$$

This can be simplified to the equation below

$$\Gamma(1) = \int_0^{\infty} e^{-x} dx$$

When we integrate with respect to x

$$\int_0^{\infty} e^{-x} dx = 1$$

So $\Gamma(1) = 1$

Using one of the properties we proved earlier, $\Gamma(n + 1) = n * \Gamma(n)$, we can develop a formula for the gamma function that gives a new property related to factorial values. We first review the factorial values for $n = 1, 2, 3, 4, 5, 6$.

$$1! = 1$$

$$2! = 2 * 1 = 2$$

$$3! = 3 * 2 * 1 = 6$$

$$4! = 4 * 3 * 2 * 1 = 24$$

$$5! = 5 * 4 * 3 * 2 * 1 = 120$$

The fourth property of the Gamma Function is $\Gamma(n) = (n - 1)!$

Proof: $\Gamma(n) = (n - 1)!$

Let $n = 1$ for $\Gamma(n + 1) = n * \Gamma(n)$

$$\Gamma(1 + 1) = 1 * \Gamma(1)$$

$$\Gamma(2) = 1 * 1$$

$$\Gamma(2) = 1$$

$$\text{Let } n = 2 \text{ for } \Gamma(n + 1) = n * \Gamma(n)$$

$$\Gamma(2 + 1) = 2 * \Gamma(2)$$

$$\Gamma(3) = 2 * \Gamma(2)$$

$$\Gamma(3) = 2 * 1$$

$$\Gamma(3) = 2$$

$$\text{Let } n = 3 \text{ for } \Gamma(n + 1) = n * \Gamma(n)$$

$$\Gamma(3 + 1) = 3 * \Gamma(3)$$

$$\Gamma(4) = 3 * \Gamma(3)$$

$$\Gamma(4) = 3 * 2$$

$$\Gamma(4) = 6$$

$$\text{Let } n = 4 \text{ for } \Gamma(n + 1) = n * \Gamma(n)$$

$$\Gamma(4 + 1) = 4 * \Gamma(4)$$

$$\Gamma(5) = 4 * \Gamma(4)$$

$$\Gamma(5) = 4 * 6$$

$$\Gamma(5) = 24$$

$$\text{Let } n = 5 \text{ for } \Gamma(n + 1) = n * \Gamma(n)$$

$$\Gamma(5 + 1) = 5 * \Gamma(5)$$

$$\Gamma(6) = 5 * \Gamma(5)$$

$$\Gamma(6) = 5 * 24$$

$$\Gamma(6) = 120$$

Thus, we have now shown that

$$\Gamma(n) = (n - 1)!$$

The fifth property of the Gamma Function is $\Gamma\left(\frac{1}{2}\right) = \sqrt{\pi}$

Proof: $\Gamma\left(\frac{1}{2}\right) = \sqrt{\pi}$

$$\Gamma\left(\frac{1}{2}\right) = \int_0^{\infty} x^{\frac{1}{2}-1} e^{-x} dx$$

$$\Gamma\left(\frac{1}{2}\right) = \int_0^{\infty} x^{-\frac{1}{2}} e^{-x} dx$$

Let $x = u^2$

Then $dx = 2u * du$

$$\Gamma\left(\frac{1}{2}\right) = \int_0^{\infty} (u^2)^{-\frac{1}{2}} e^{-u^2} 2u * du$$

$$\Gamma\left(\frac{1}{2}\right) = \int_0^{\infty} u^{-1} e^{-u^2} 2u * du$$

$$\Gamma\left(\frac{1}{2}\right) = 2 \int_0^{\infty} e^{-u^2} du$$

To solve the integral we will need to change it to polar coordinates because no integral technique exist for this function.

$$\text{Let } I = \int_0^{\infty} e^{-x^2} du$$

We need to square both sides of the equation

$$I^2 = \left[\int_0^{\infty} e^{-x^2} du\right]^2$$

Simplify this to

$$= \iint_0^{\infty} e^{-x^2} * e^{-y^2} dydx$$

We combine the bases together

$$= \iint_0^{\infty} e^{-(x^2+y^2)} dydx$$

In polar coordinates we know

$$r^2 = (x^2 + y^2)$$

$$da = dydx = r drd\theta$$

If we substitute these into the equation we have

$$I^2 = \int_0^{\frac{\pi}{2}} \int_0^{\infty} e^{-r^2} r dr d\theta$$

We can now use U substitution to integrate this equation

$$\text{Let } u = r^2$$

$$2r dr = du$$

$$dr = \frac{du}{2r}$$

Substitute these into the equation

$$\int_0^{\frac{\pi}{2}} \int_0^{\infty} e^{-u} r \frac{du}{2r} d\theta$$

Simplifying the equation we are left with

$$\int_0^{\frac{\pi}{2}} \frac{1}{2} \int_0^{\infty} e^{-u} du d\theta$$

If we integrate the equation with respect to u we have

$$\int_0^{\frac{\pi}{2}} \frac{1}{2} [(-e^{-u})]_0^{\infty} d\theta$$

Replace U with our original definition

$$\int_0^{\frac{\pi}{2}} \frac{1}{2} (-e^{-r^2})_0^{\infty} d\theta$$

Substitute in the limits for r

$$\begin{aligned} & \int_0^{\frac{\pi}{2}} \frac{1}{2} [-e^{-\infty^2} - (-e^{-0^2})] d\theta \\ &= \int_0^{\frac{\pi}{2}} \frac{1}{2} [-e^{-\infty^2} - (-e^{-0^2})] d\theta \\ &= \int_0^{\frac{\pi}{2}} \frac{1}{2} [0 - (-1)] d\theta \\ &= \int_0^{\frac{\pi}{2}} \frac{1}{2} d\theta \end{aligned}$$

We integrate with respect to θ

$$\begin{aligned} & \left[\frac{1}{2} \theta \right]_0^{\frac{\pi}{2}} \\ &= \left[\frac{1}{2} \left(\frac{\pi}{2} \right) - \frac{1}{2} (0) \right] \\ &= \frac{\pi}{4} \end{aligned}$$

Therefore

$$\Gamma^2 = \frac{\pi}{4}$$

We take the square root of both sides and have

$$\Gamma = \int_0^{\infty} e^{-u^2} du = \frac{\sqrt{\pi}}{2}$$

If we take this value and return to the equation

$$\Gamma\left(\frac{1}{2}\right) = 2 \int_0^{\infty} e^{-u^2} du$$

We will have

$$\Gamma\left(\frac{1}{2}\right) = 2 * \frac{\sqrt{\pi}}{2}$$

This simplifies to

$$\Gamma\left(\frac{1}{2}\right) = \sqrt{\pi}$$

Therefore,

$$\Gamma\left(\frac{1}{2}\right) = \sqrt{\pi}$$

Using the properties $\Gamma(n + 1) = n * \Gamma(n)$ and $\Gamma\left(\frac{1}{2}\right) = \sqrt{\pi}$, we can find the gamma of non-integers.

Let $n = \frac{1}{2}$ for $\Gamma(n + 1) = n * \Gamma(n)$

$$\Gamma\left(\frac{1}{2} + 1\right) = \frac{1}{2} * \Gamma\left(\frac{1}{2}\right)$$

$$\Gamma\left(\frac{3}{2}\right) = \frac{1}{2} * \sqrt{\pi}$$

$$\Gamma\left(\frac{3}{2}\right) = \frac{\sqrt{\pi}}{2}$$

Let $n = \frac{3}{2}$ for $\Gamma(n + 1) = n * \Gamma(n)$

$$\Gamma\left(\frac{3}{2} + 1\right) = \frac{3}{2} * \Gamma\left(\frac{3}{2}\right)$$

$$\Gamma\left(\frac{5}{2}\right) = \frac{3}{2} * \frac{\sqrt{\pi}}{2}$$

$$\Gamma\left(\frac{5}{2}\right) = \frac{3\sqrt{\pi}}{4}$$

Let $n = \frac{5}{2}$ for $\Gamma(n + 1) = n * \Gamma(n)$

$$\Gamma\left(\frac{5}{2} + 1\right) = \frac{5}{2} * \Gamma\left(\frac{5}{2}\right)$$

$$\Gamma\left(\frac{7}{2}\right) = \frac{5}{2} * \frac{3\sqrt{\pi}}{4}$$

$$\Gamma\left(\frac{7}{2}\right) = \frac{15\sqrt{\pi}}{8}$$

We can also use the property $\Gamma(n + 1) = n!$ to find factorial values for non-integers.

Let $n = \frac{1}{2}$ for $\Gamma(n + 1) = n!$

$$\Gamma\left(\frac{1}{2} + 1\right) = \frac{1}{2}!$$

$$\Gamma\left(\frac{3}{2}\right) = \frac{1}{2}!$$

$$\frac{\sqrt{\pi}}{2} = \frac{1}{2}!$$

Let $n = \frac{3}{2}$ for $\Gamma(n + 1) = n!$

$$\Gamma\left(\frac{3}{2} + 1\right) = \frac{3}{2}!$$

$$\Gamma\left(\frac{5}{2}\right) = \frac{3}{2}!$$

$$\frac{3\sqrt{\pi}}{4} = \frac{3}{2}!$$

Let $n = \frac{5}{2}$ for $\Gamma(n + 1) = n!$

$$\Gamma\left(\frac{5}{2} + 1\right) = \frac{5}{2}!$$

$$\Gamma\left(\frac{7}{2}\right) = \frac{5}{2}!$$

$$\frac{15\sqrt{\pi}}{8} = \frac{5}{2}!$$

We can also use this property to define factorial values for negative non-integers.

Let $n = -\frac{1}{2}$ for $\Gamma(n + 1) = n!$

$$\Gamma\left(-\frac{1}{2} + 1\right) = -\frac{1}{2}!$$

$$\Gamma\left(\frac{1}{2}\right) = -\frac{1}{2}!$$

$$\sqrt{\pi} = -\frac{1}{2}!$$

Acknowledgements

Special thanks to:

1. Dr. Atena
2. Dr. Dolo
3. Dr. Muche
4. Dr. Chowdhury.
5. Dr. Tekalign

References:

- M. Abramowitz and I. Stegun, Handbook of Mathematical Functions, Dover, New York, (1964)
- G.E. Andrews, R. Askey and R. Roy, Special functions, Cambridge University Press, Cambridge, (1999)
- E. Artin, The Gamma Function, New York, Holt, Rinehart and Winston, (1964)
- E.W. Barnes, The theory of the gamma function, Messenger Math. (2), (1900), vol. 29, p. 64-128.
- J.P.M Binet, Journal ´ecole polyt., (1839), vol. 16, p. 131
- H. Bohr and I. Mollerup, Loerbog I matematisk Analyse, Kopenhagen,